The LAW OF DEMAND – THE HIGHER THE PRICE ( THE GREATER WILL BE THE QUANTITY DEMANDED.

(this is a version of the fundamental principle of economics – People are more likely to take an action when the cost is lower.)

FACTORS OTHER THAN PRICE CAN ALSO AFFECT THE DESIRED QUANTITY.  THESE “PARAMETERS” ARE HELD CONSTANT IN DESCRIBING THE DEMAND.

ELASTICITY OF DEMAND  -  THE RESPONSE OF CONSUMERS TO A PRICE CHANGE 


PERCENT CHANGE IN QUANTITY DEMANDED




DIVIDED BY


PERCENT CHANGE IN PRICE

ALWAYS NEGATIVE

CHANGE IN TOTAL EXPENDITURE OR REVENUE FROM A CHANGE IN PRICE IS RELATED TO WHETHER THE ELASTICITY IS GREATER THAN OR LESS THAN ONE
THE STATE ATTORNEY GENERAL HAS INVESTIGATED A NUMBER OF INDUSTRIES IN RECENT YEARS FOR “ILLEGAL PRICE FIXING”.

THESE INDUSTRIES INCLUDED ASPHALT PAVERS, MILK SELLERS, FINE PAPER PRODUCERS, AND ELECTRICAL CONTRACTORS.

IN ALL CASES THEY FOUND EVIDENCE OF PRICE FIXING BUT ONLY ON SALES TO GOVERNMENT ENTITIES.

WHY WOULD YOU EXPECT PRICE FIXING TO BE MORE LIKELY ON SALES TO THE GOVERNMENT?

FACTORS AFFECTING ELASTICITY

1.  SUBSTITUTES

THE MORE AND THE BETTER THE SUBSTITUTES FOR A GOOD, THE MORE CONSUMERS WILL RESPOND TO A PRICE CHANGE (I.E., THE GREATER WILL BE ITS ELASTICITY)

2.  THE POSITION OF DEMAND

A SHIFT UP IN DEMAND WILL LOWER THE ELASTICITY (SINCE THE PERCENTAGE CHANGE IN QUANTITY WILL BE LESS)

3.  THE RESPONSE PERIOD

THE MORE TIME CONSUMERS HAVE TO RESPOND TO A PRICE CHANGE, THE GREATER WILL BE THE RESPONSE (ELASTICITY).

RESPONSE PERIOD

CONSUMERS RESPONSE TO A PRICE CHANGE IS AFFECTED BY:

1.  INFORMATION ABOUT ALTERNATIVES.

2.  AVAILABLE SUBSTITUTES AND COMPLEMENTS.

WHEN YOU HAVE MORE TIME TO RESPOND:

1.  YOUR KNOWLEDGE ABOUT ALTERNATIVES CAN BE EFFECTIVELY INCREASED.

2.  YOU CAN ACQUIRE THE PREFERRED SET OF COMPLEMENTS AND SUBSTITUTES IN AN EFFECTIVE (CHEAPER) MANNER.

AN EDITORIAL RECENTLY CLAIMED THAT THE CUTS IN THE FEDERAL TIMBER HARVESTS DID NO ECONOMIC HARM BECAUSE THE TOTAL VALUE OF THE TIMBER HARVESTED IN FACT WENT UP.

IN A SUBSEQUENT LETTER TO THE EDITOR, AN ENVIRONMENTALIST CONCURRED BUT USED THIS FACT TO POINT OUT THE ABSURDITY OF OUR ECONOMIC SYSTEM IN WHICH 

“LESS IS WORTH MORE THAN MORE.”

EXPLAIN HOW BOTH THE EDITOR AND THE ENVIRONMENTALIST ARE CONFUSED ABOUT BASIC ECONOMIC PROPOSITIONS.

THE EQUILIBRIUM PRICE RESULTS FROM THE INTERACTION OF SUPPLIERS AND DEMANDERS

IF, AT A GIVEN PRICE, THE QUANTITY SUPPLIED EXCEEDS THE QUANTITY DEMANDED,

                        A SURPLUS EXISTS 

SUPPLIERS THEN HAVE AN INCENTIVE TO COMPETE TO BE THE FAVORED TRADERS.   BY OFFERING $ THROUGH A LOWER PRICE, THE DEMANDERS CAN BUY THEIR MOST FAVORED GOODS.

PRICE THEREFORE FALLS
IF, AT A GIVEN PRICE, THE QUANTITY DEMANDED EXCEEDS THE QUANTITY SUPPLIED,

                        A SHORTAGE EXISTS 

DEMANDERS THEN HAVE AN INCENTIVE TO COMPETE TO BE THE FAVORED TRADERS.   BY OFFERING $ THROUGH A HIGHER PRICE, THE SUPPLIERS CAN BUY THEIR MOST FAVORED GOODS.

PRICE THEREFORE RISES
AN EQUILIBRIUM PRICE (ONE THAT WILL NOT CHANGE) EXISTS ONLY IF THE QUANTITY DEMANDED EQUALS THE QUANTITY SUPPLIED
CORD WOOD MARKET IN BOTHELL
SUPPLY - 

WOODCUTTERS FROM DUVALL SUPPLY 7 CORDS EACH SATURDAY MORNING

DEMAND-
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WHAT WOULD YOU EXPECT TO HAPPEN IN THE CORD WOOD MARKET IF ON SATURDAY MORNING AT 8 AM THE PRICE OF OIL DOUBLED?
INCREASE IN THE PRICE OF A SUBSTITUTE WILL->

INCREASE DEMAND!

DEMAND WITH OIL PRICE DOUBLED-
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A LARGE UNEXPECTED INCREASE IN A PRICE ($40 PER CORD TO $100 PER CORD) CAUSES:

SUBSTANTIAL REDISTRIBUTION OF SOCIETY’S “WEALTH” (FROM THE JONES - LOSS IN CONSUMER SURPLUS; FROM SMITH’S $ AND SURPLUS)

THE REDISTRIBUTIONS ARE UNRELATED TO FAMILY’S EFFORTS OR TALENTS

FREQUENT RESPONSE - CALL ON GOVERNMENT (SPECIALIST IN COERCION) TO CORRECT THE WRONG

DON’T ALLOW THE PRICE INCREASE

CALLED A “PRICE CONTROL”

A PRICE CONTROL CREATES A SHORTAGE

A SHORTAGE PROVIDES INCENTIVES FOR BUYER COMPETITION TO BE THE PREFERRED BUYER

A PRICE CONTROL ELIMINATES ONE DIMENSION IN WHICH TO COMPETE        BUT

NOT THE INCENTIVE TO COMPETE
OTHER EXPECTED DIMENSIONS OF COMPETITION (WAYS TO GET THE SELLER TO FAVOR YOU):

1.  REDUCE THE SELLER’S COST.

2.  PROVIDE THE SELLER WITH A BENEFIT “UNRELATED” TO THE PRICE CONTROLLED GOOD.

3.  APPEAL TO THE SELLER THROUGH YOUR PERSONAL CHARACTERISTICS.

IF ALL MEANS OF APPEALING TO THE SELLER ARE FORECLOSED ->

GOODS WILL BE ALLOCATED BY WILLINGNESS TO WAIT!

PROBLEM
IF THE CORD WOOD IS ALLOCATED BY WILLINGNESS TO WAIT, WILL THE JONES (THE POOR FAMILY) BENEFIT?

THE ANSWER DEPENDS ON THE VALUE OF BEING FIRST IN LINE AS COMPARED TO THE COST OF WAITING IN LINE.

(WORK THROUGH THE CASE IN WHICH THE JONES’ VALUE OF TIME IS $5 PER HOUR AND THE SMITH’S $30 PER HOUR - IN THIS CASE THE SMITH’S WILL GET THE WOOD.  SEE LECTURE 5 NOTES ON THE WEB SITE AS TO HOW THIS WAS DETERMINED.)

PROPOSITION -

THERE MUST BE SOME ALTERNATIVE POLICY THAT IS EFFICIENT IF SOCIETY IS ALLOCATING THE GOODS BY WAITING

(THE WEB SITE WORKS THROUGH THE CASE OUTLINED ABOVE.  THE LOGIC IS SIMPLY THAT WITH A PRICE CONTROL SOCIETY IS WASTING RESOURCES SINCE SOMEONE WAITS IN LINE AND IN ADDITIONAL THE ALLOCATION OF THE GOODS ARE LIKELY NOT THE EFFICIENT ALLOCATION.  AN EFFICIENT POLICY MAY INCLUDE COMPENSATION TO SOMEONE WHO BENEFITS FROM A PRICE CONTROL.)

DETERMINING WHO BENEFITS FROM ALLOCATING GOODS THROUGH COMPETING BY WAITING

STEP 1 - DETERMINE THE VALUE TO CONSUMERS OF WAITING



CORD WOOD EXAMPLE




JONES FAMILY  - IF FIRST, WILL PURCHASE 3 CORDS

VALUE OF 3 CORDS ($90+$70+$50) =     $210

$ COST OF WOOD
($40x3)
      =
     120

JONES SURPLUS IF FIRST       =     $90




SMITH FAMILY  - IF FIRST, WILL PURCHASE 7 CORDS

VALUE OF 7 CORDS 

  ($160+150+140+130+120+110+100) =     $910

$ COST OF WOOD
($40x7)
      =
      280

SMITH SURPLUS IF FIRST       =     $630

STEP 2 - DETERMINE THE COST TO CONSUMERS OF WAITING.  (NEED TO KNOW THE OPPORTUNITY COST OF TIME SPENT IN LINE)


CORD WOOD EXAMPLE




JONES FAMILY  - ASSUME TIME VALUE = 
$5/HOUR

WILL WAIT (SURPLUS/TIME VALUE)



  ($90/$5)                           =    18 HOURS




SMITH FAMILY  - ASSUME TIME VALUE = 
$20/HOUR

WILL WAIT (SURPLUS/TIME VALUE)



  ($630/$30)                      =     21 HOURS

EXPECTED EQUILIBRIUM WAIT TIME 18+ HOURS - SMITHS GET THE GOODS
DID THE SMITHS BENEFIT?

COMPETING BY WILLINGNESS TO WAIT


SURPLUS 


=     $630

      TIME COST


=     $540  ($30x18+)


NET BENEFIT

=     $ 90
COMPETING BY WILLINGNESS TO PAY

VALUE



=      $910

$ COST



=      $700

NET BENEFIT

=      $210

NO!

BUT THIS IS JUST AN EXAMPLE

WHAT IF THE VALUE OF TIME - SMITHS = $100/HR


NOW JONES WAIT ~ 6.3 HOURS AND JONES GET 4 

GET NET SURPLUS ~ ($90-6.3x$5) = $58.50

PROPOSITION -

THERE MUST BE SOME ALTERNATIVE POLICY THAT IS EFFICIENT IF SOCIETY IS ALLOCATING THE GOODS BY WAITING

GAINS FROM TRADE WITH PRICE CONTROL 

(SMITHS TIME VALUE = $30)
NET SURPLUSES


JONES    = $0


SMITHS   = $90


CUTTERS= $280 (=7x$40)


TOTAL     =$370
AN EFFICIENT ALTERNATIVE-

ALLOCATE BY PRICES, TAX WOODCUTTERS $50/CORD, GIVE TAX REVENUE TO THE JONES

NET SURPLUSES


JONES    = $350 ($50x7)


SMITHS   = $210


CUTTERS= $350 ($100x7 - $50x7)


TOTAL   = $910

(NOTE THAT THE TOTAL SURPLUSES EQUAL HE VALUE OF THE WOOD AND THE GAIN OF $540 {=$910-370} IS EXACTLY THE WASTE FROM WAITING)
